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MCQ

Q. Consumers objective is to maximize her own
1 utility
2 profit
3 consumption
4 income

A. 1
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Q. Firms objective is to maximize its own
1 revenue
2 profit
3 cost
4 output
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Q. Normally a demand curve will be
1 horizontal
2 vertical
3 downward sloping
4 upward sloping

A. 3
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MCQ

Q. Which one is the assumption of law of demand?
1 price of the commodity should not change
2 quantity demanded should not change
3 prices of substitutes should not change
4 demand curve must be linear

A. 3
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MCQ

Q. Which of the following is a variable when consider a upward
sloping supply curve

1 own price
2 price of substitute commodity
3 labor
4 capital

A. 1
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MCQ

Q. The elasticity of demand of durable goods is
1 less than unity
2 greater than unity
3 equal to unity
4 zero

A. 2
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MCQ

Q. Suppose a supply curve passes through origin, it’s elasticity is
1 greater than one
2 less than one
3 one
4 less than zero

A. 3
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MCQ

Q. The horizontal demand curve parallel to x-axis implies that the
elasticity of demand is

1 zero
2 infinity
3 one
4 greater than zero but less than infinity

A. 2
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MCQ

Q. Price of a product falls by 10% and its demand rises by 30%.
The elasticity of demand is

1 3%
2 1%
3 -3%
4 -1%

A. 3
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Q. The vertical supply curve parallel to y-axis implies that the
elasticity of supply is

1 zero
2 infinity
3 one
4 greater than zero but less than infinity

A. 1
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Q. The vertical supply curve parallel to y-axis implies that the
elasticity of supply is

1 zero
2 infinity
3 one
4 greater than zero but less than infinity
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Q. When demand is inelastic, an increase in price will result in
1 a decrease in total revenue
2 an increase in total revenue
3 no change in total revenue
4 a decrease in quantity demanded

A. 2
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Q. Suppose a supply curve has an intercept at y-axis, the elasticity
of that supply curve is

1 one
2 greater than one
3 less than one
4 infinity
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MCQ

Q. Demand for a commodity refers to
1 need for the commodity
2 desire for the commodity
3 amount of the commodity demanded at a particular price and

at a particular time
4 quantity demanded of that commodity

A. 3
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MCQ

Q. Supply of a commodity refers to
1 at any given price how much quantity a firm wants to produce
2 at any given price how much quantity a firm produces
3 quantity that a firm produces irrespective of the price
4 quantity that a firm wants to produce irrespective of the price

A. 1
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MCQ

Q. Irrespective of price, Sofia always spends Rs. 100 a week on ice
cream, we conclude that

1 elasticity of demand is 0
2 elasticity of demand is 1
3 elasticity of demand is infinite
4 the law of demand has been violated

A. 2
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Q. Suppose the equation of the supply curve is p = 5q, the
elasticity of supply is

1 one
2 greater than one
3 less than one
4 zero
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MCQ

Q. If demand is for a normal commodity elastic, a change in the
price

1 will change the quantity in same direction
2 will change total revenue in same direction
3 will change total revenue in the opposite direction
4 will not change quantity

A. 3
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MCQ

Q. Suppose price of fertilizer rises, then the price of rice will
1 fall
2 rise
3 remain unchanged
4 can’t say
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Q. Suppose price of fertilizer rises, then the supply of rice will
1 fall
2 rise
3 remain unchanged
4 can’t say
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MCQ

Q. Zubair has a special taste for college canteen is hotdogs. The
owner of the canteen doubles the prices of hotdogs. Zubair did not
respond to the increase in prices and kept on demanding the same
quantity of hotdogs. His demand for hotdogs is

1 perfectly elastic
2 perfectly inelastic
3 elastic
4 inelastic

A. 2
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MCQ

Q. Law of demand shows relation between
1 income and price of commodity
2 price and quantity of a commodity
3 income and quantity demand
4 quantity demanded and quantity supplied
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MCQ

Q. Labor supply curve violets
1 law of demand
2 law of supply
3 law of diminishing return
4 none of the above
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MCQ

Q. Which of the following pairs of commodities is an example of
substitutes?

1 tea and sugar
2 tea and coffee
3 pen and ink
4 shirt and trousers
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MCQ

Q. Rise in rate of interest leads to fall in investment, the
statement is

1 normative
2 positive
3 both normative and positive
4 none of the above

A. 2
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MCQ

Q. If quantity demanded is completely unresponsive to changes in
price, demand is

1 inelastic
2 unit elastic
3 elastic
4 perfectly inelastic

A. 4
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3 income
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Q. If elasticity of demand is very low it shows that the commodity
is

1 a necessity
2 a luxury
3 has little importance in total budget
4 (1) and (3) above
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1 playing games (utility: 10)
2 reading story books (utility: 12)
3 chatting with friends (utility: 15)
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Q. If demand of a normal commodity is unitary elastic, a 25%
increases in price will result in

1 25% change in total revenue
2 No change in quantity demanded
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2 change in price
3 change in fashion
4 change in prices of substitutes

A. 2



.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

MCQ

Q. The following are causes of shift in demand EXCEPT the one
1 change in income
2 change in price
3 change in fashion
4 change in prices of substitutes

A. 2



.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

.
.
.

.

MCQ
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1 there are negative externalities like pollution
2 there are public goods
3 there are asymmetric information
4 all of the above
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Q. When cross elasticity of demand is a large positive number, one
can conclude that

1 the good is normal
2 the good is inferior
3 the good is a substitute
4 the good is a complement
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1 Q + 4P = 20
2 Q = 35 + 3P
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4 5P - Q = 4
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elasticity of supply is

1 one
2 less than one
3 more than one
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Q. Mr. Raees Ahmad bought 50 liters of petrol when his monthly
income was Rs. 25,000. Now his monthly income has risen to Rs.
50,000 and he purchases 100 liters of petrol. His income elasticity
of demand for petrol is
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3 more than one
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2 international trade
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production process is known as

1 capital loss
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3 Dead-weight loss
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Q. During a particular year farmers experienced a dry weather, if
all other factors remain constant, farmers supply curve for wheat
will shift to

1 rightward
2 leftward
3 downward
4 there will be no shift of the supply curve
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1 Prof Marshall
2 David Ricardo
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1 modern and traditional industries
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Q. Microeconomics deals with the
1 allocation of resources of the economy as between production

of different goods and services
2 determination of prices of goods and services
3 behavior of industrial decision makers
4 all of the above
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called

1 real cost
2 production cost
3 physical cost
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Q. Assume that consumer’s income and the number of sellers in
the market for good X both falls. Based on this information, we
can conclude with certainty that the equilibrium

1 price will decrease
2 price will increase
3 quantity will increase
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Q. The supply of a good refers to
1 stock available for sale
2 total stock in the warehouse
3 actual Production of the good
4 quantity of the good offered for sale at a particular price per
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1 change in price caused by changes in demand
2 the rate of change of sales
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2 shift to the right
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1 social ownership of the means of production
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